Top Ten 6/7 Set A  Test 1

	
	Question
	Support
	Answer

	1
	What is three point nine divided by two?
	3.9
	

	2
	I can make a three-digit number from the digits two, three and four in six ways.

How many of these three-digit numbers are even?
	
	

	3
	What is one third of three-quarters of one hundred?
	100
	

	4
	I think of a number. I call it n. I square my number and then take away six. Write an expression to show the result. 
	n
	

	5
	On the grid, sketch the straight line with equation y equals three.
	
	y           

4

2       

 0       2       4     x

	6
	Look at the equation. When x equals six, what is the value of y?
	y = x² 
	

	7
	Twenty-one out of thirty-six pupils said they watched Top of the Pops. What angle would show this on a pie chart?
	21

36


	

	8
	Look at the calculation.

Write down an approximate answer.
	29.95 x 20.7
4.97
	

	9
	What 3-D shape has four vertices?
	
	

	10
	A bat flies at an average speed of thirty kilometres per hour. At this speed, how far would it fly in one minute?
	30 km per hour
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	Question
	Support
	Answer

	1
	What is seven point seven divided by two?
	7.7
	

	2
	What is five cubed?
	
	

	3
	What is one quarter of two-fifths of one hundred?
	100
	

	4
	I think of a number. I call it p. I square my number and then divide by two. Write an expression to show the result. 
	p
	

	5
	On the grid, sketch the line with equation y equals x.
	
	y           

4

2       

 0       2       4     x

	6
	Look at the equation. When x equals minus four what is the value of y?
	y = x² 
	

	7
	A pie chart is drawn to show the colour of eyes of 100 people. If the angle of the sector representing brown eyes is 270 degrees, how many people had brown eyes?
	270º
	

	8
	Look at the calculation.

Write down an approximate answer.
	18.6 x 23.2

4.9
	

	9
	What is the surface area of a cube of side 3cm?
	      

      3                 3cm
	

	10
	A cyclist covers nine kilometres in twenty minutes. Express his speed in kilometres per hour.
	9  km in 20 mins
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	Question
	Support
	Answer

	1
	What is 15.6 divided by 4?
	15.6
	

	2
	I write all the integers from one to one hundred. How many of these integers contain a digit two?
	
	

	3
	What is two-thirds of three-fifths of one hundred?
	100
	

	4
	I think of a number. I call it n. I square my number and then add four. Write an expression to show the result. 
	n
	

	5
	On the grid, sketch the straight line with equation x + y equals three.
	
	y           

4

2       

 0       2       4     x

	6
	Look at the expression.

When n is three, work out the value of this expression.
	( n + 4) (n + 2)
	

	7
	Twenty out of a class of thirty are girls. What angle would show this on a pie chart?
	20

30
	

	8
	Look at the calculation.

Write down an approximate answer.
	     898___           

3.1  x 2.8
	

	9
	What is the surface area of a cube of side 5cm?
	       

      3                    5cm
	

	10
	A plane travels the 2000 miles from London to Istanbul in 3 hours. What is its approximate speed in miles per hour.
	2000 miles

3 hours
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	Question
	Support
	Answer

	1
	Fill in the missing number in the number sentence.
	3.4 x __ = 6.8 x 3.5
	

	2
	I write all the integers from one to one hundred. How many of these integers contain a digit nine?
	
	

	3
	What is two-fifths of one third of one hundred and fifty?
	150
	

	4
	I think of a number. I call it n. I add four  to my number and then square it. Write an expression to show the result. 
	n
	

	5
	On the grid, sketch the straight line with equation x equals three.
	
	y           

4

2       

 0       2       4     x

	6
	Look at the expression.

When k is four, work out the value of this expression.
	( k +1) (k + 2)
	

	7
	A pie chart is drawn to show the number of boys and girls in a class of 30 pupils. If the angle of the sector representing Boys is 120 degrees, how many boys are in the class?
	120º
	

	8
	Look at the calculation.

Write down an approximate answer.
	798 ÷ 38
	

	9
	How many faces has a tetrahedron?
	
	

	10
	A car is travelling at eighty kilometres per hour for one hour and fifteen minutes. How far has it travelled? 
	80 km per hour
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	Question
	Support
	Answer

	1
	Fill in the missing number in the number sentence.
	48 x __ = 12 x  56
	

	2
	What would be the last digit of thirty-three to the power three?
	33³
	

	3
	What is three tenths of one fifth of one thousand five hundred?
	1500
	

	4
	I think of a number. I call it q. I divide my number by two and then square it. Write an expression to show the result. 
	q
	

	5
	On the grid, sketch the straight line with equation x + y equals four.
	
	y           

4

2       

 0       2       4     x

	6
	Look at the expression.

When m is six, work out the value of this expression.
	(m + 5) (m - 2)
	

	7
	On average, I spend seven hours in every day asleep. What angle would show this on a pie chart?
	7 hours
	

	8
	Look at the calculation.

Write down an approximate answer.
	   682__

5.3 x 2.17
	

	9
	How many vertices does a square-based pyramid have? 
	
	

	10
	A bus travels at sixty-five miles per hour for one and a half hours. How far has it travelled?
	65mph

1½  hours 
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	Question
	Support
	Answer

	1
	Write the ratio twelve to six in its simplest form.
	12 : 6
	

	2
	Increase one pound fifty by fifty percent.
	£1.50             50%            
	

	3
	Nine to the power of six, divided by nine to the power of two, is equal to nine to the power of what?
	     96  ÷  92  


	

	4
	Look at the expression.

Multiply out the bracket.
	a ( a + 2 )
	

	5
	Look at the equation.

When m equals two, what is the value of h?
	h  = 3m - 10
	

	6
	I start at six and count back in equal steps, six, one, minus four…

What is the next number in the sequence?
	6,   1,   -4,   ….
	

	7
	One angle of a triangle is one hundred and twelve degrees.

 What do the other two angles add up to?
	
	               º

	8
	What is the volume of a cuboid measuring five centimetres by six centimetres by seven centimetres?
	5cm, 6cm, 7cm
	

	9
	The mean of three numbers is seven.

One of the numbers is eight. Another number is nine. What is the third number?
	7
	

	10
	I take a ball at random from a bag. 

The probability that it is blue is three-fifths. 

There are nine blue balls in the bag.

 How many of the balls are not blue?
	3

5
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	Question
	Support
	Answer

	1
	The three angles in a triangle are in the ratio one to two to three.

What is the size of the three angles?
	1 : 2 : 3 
	 ___º    ___º  ___º               

	2
	A computer game costs £42. Its price is increased by 10%.

What is the new price of the game?
	£ 42
	£

	3
	Look at the expression.

When k equals seven, what is its value?
	___k³__

k


	

	4
	Multiply out the expression on your answer sheet.
	y ( 3y² - 4 )
	

	5
	Look at the expression.

What is the value of this expression when k equals three?
	10 k²
	

	6
	Look at the sequence on your answer sheet. Write down the nth term of this sequence.
	1,  4,  9,  16,   25, …
	

	7
	Look at the isosceles triangle. If two angles are 70 degrees, what is the size of the third angle ?
	
	              º

	8
	What is the volume of a cuboid measuring five centimetres by eight centimetres by ten centimetres?
	5cm, 8cm, 10cm 
	 

	9
	The mean of two numbers is eight.

One of the numbers is minus four. What is the other number?
	8
	

	10
	I am going to take a ball at random from a bag.

 The probability that it will be red is two-fifths

There are eight red balls in the bag.

 How many of the balls are not red?
	2

5
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	Question
	Support
	Answer

	1
	Two boys share £300 in the ratio of 3:7.

How much is the larger share? 
	£300

3 : 7
	

	2
	I pay five pounds for a book and a magazine. If the book costs four pounds more than the magazine, how much did the book cost?
	
	£            

	3
	Work out the answer to the calculation.
	24   x    3² 
	

	4
	Multiply three y by five y. 

Write your answer in its simplest form.
	3y             5y
	

	5
	Look at the equation.

When y equals forty-six, what is the value of x?
	y = 2x + 6
	

	6
	Your answer sheet shows the nth term of a sequence. What is the eighth term of this sequence?  
	½ ( n – 3)²
	

	7
	The diagram shows a rhombus. The angle marked x is sixty-five degrees. What is the size of the angle marked y?
	          

         y             x


	

	8
	A children’s sandpit is a cuboid measuring three metres by four metres by fifty centimetres.

Which of the calculations on your answer sheet will give the volume of the sandpit?

Put a ring round it
	
	3 + 4 + 0.5

3 x 4 x 0.5

3 + 4 + 50

3 x 4 x 50



	9
	Write three numbers that have a mean of eight and a range of three.
	Mean    8

Range   3
	

	10
	I take a ball at random from a bag containing red, blue and pink balls. Look at the table of probabilities. What is the probability I take a pink ball?
	red

blue

pink

0.45

0.5

?
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	Question
	Support
	Answer

	1
	The scale on a map is one centimetre to ten kilometres. On the map two towns are five and a half centimetres apart. What is the actual distance between the towns?
	1cm     10km
	       km

	2
	What percentage of fifty pounds is thirty-five pounds?
	£50
	           %

	3
	What is the square root of one million?
	
	

	4
	Simplify the expression on your answer sheet.


	7a²  -  5a
	

	5
	Look at the equation. 

What is the value of x?
	34 – 2x = 14
	

	6
	Your answer sheet shows the nth term of a sequence. What is the fourth term of this sequence?  
	1/3 (n – 2) ²
	

	7
	The diagram shows a rhombus. The angle marked x is seventy-five degrees. What is the size of the angle marked y?
	          

         y             x


	

	8
	What is the volume of the prism?
	      

                              5 cm  

             3 cm                      
	

	9
	The table shows the number of goals scored in fourteen games.

How many goals were scored altogether?
	Number of goals

Frequency

0

4

1

3

2

6

3

1


	

	10
	The probability that I am late for work is nought point one. What is the probability that I am NOT late for work?
	0.1
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	Question
	Support
	Answer

	1
	A youth club’s members are girls and boys in the ratio three to five. There are twenty-one girls. How many boys are there?
	3 : 5

21
	               boys

	2
	The answer sheet shows the cost of theatre tickets.

Mrs Jones wants to take some children to the theatre, but she only has £25.

What is the greatest number of children she can take?
	Each adult  £6.99

Each child  £ 3.99
	

	3
	What must I multiply n squared by to get five n cubed?
	n²              5n³
	

	4
	Multiply out the expression
	m² (9 + m)
	

	5
	Look at the equation.

What is the value of x?
	20 – 3x = 16
	

	6
	Your answer sheet shows the nth term of a sequence. What is the hundredth term of this sequence?  
	¼ ( n – 4 )
	

	7
	The diagram shows an isosceles triangle.

If the angle marked x is fifty-five degrees, what is the angled marked y?
	                Y


       X                


	

	8
	What is the volume of the prism?
	      

                              25 cm  

             20 cm                      
	

	9
	Write three numbers that have a mean of ten and a range of two.
	Mean    10

Range     2
	

	10
	I have a fair six-sided dice, numbered 1 to 6. What is the probability that I roll a number less than five?
	
	


20cm





2cm
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